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. x(t) = x1(t) + x,(t) 2
t : |
~1 . —-1 t
EBHHET: (1) = 1,(0) - x,(D)
4
A x,() A 50 A "

] 1

x(t) = x1() - x,() ( \
> | /\ > | — >

~1 1 -2 ? ! :




ESER

A x(?)
1
- BERx(OREFCANE R, IWEHx (6 — 268U
>
i) 3
s=lIN 30 2
x(t) RERR x(2t) B x(=2t) LN x[=2(t — 3)]
A x(?) A x(21%) A x(-20) Ax(—Zt +6)
1 1 1 1k /_
-2 0 s o T st ST T s 4!




BRSNS,

iNEES

- WS x[n]> x[-n]
5 x[n] LA FIOME 180 EEEREE

x[n] 30
2 2
1 [ I
.—1 0 1 2 g > n
x[-n] 3¢
2 2
ki
* -2 -1 0 1 g >

> I9%2: x[n] > x[ntk], k>0

- x[n — k)=~ x [n) BB B
- x[n + kR x [n) BN ERAL

[2
® p 11
2 3




EaESSHIINFISE




FEME

3. HBIRY(ES:

—RIESHTFHES




- BRES A=,
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k=+1+2, -, Hf - BEEEHI=FAREHIXR:
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